exhausts

PX Ranger 3.2L & 2.2L 2012-2016 NON DPF Model

10.

11.

12.

Remove rear tail pipe and muffler assembly from the vehicle.

Remove centre connecting pipe from the vehicle.

Remove turbo dump pipe heat shield.

Remove catalytic converter from vehicle. Hint: Access lower turbo nut through

the RHS wheel arch. Remove turbo nuts/bolts and replace with providing studs M10x1.5,
nuts M10x1.5. Some will need two replaced as some may only need one replaced.

Insert the supplied EGT plug into the turbo dump pipe.

Fit the turbo dump pipe to the turbo outlet flange using the three supplied M10x1.5 nuts.
Tighten all 3 nuts.

Fit the connecting pipe to the to the turbo dump pipe and tighten finger tight with the
supplied 3/8 UNC nuts.

Fit the second connecting pipe to first connecting pipe with the integrated hanger mount
aligning with the rubber hanger located on the side of the chassis, tighten finger tight with
the supplied 3/8 UNC nuts.

Fit the pipe only/resonator or muffler section to the connecting pipe and tighten finger tight
with the supplied 3/8 UNC nuts. (Fit diff pipe section in the same format if that is what you
purchased and then continue with step 12)

Fit the tailpipe to the pipe only/resonator or muffler section and tighten finger tight with the
supplied 3/8 UNC nuts.

Check over exhaust making sure everything is aligned and then tighten all bolts and nuts
from the front to back of the vehicle.

Enjoy your IGNITE exhaust!

Ignite Exhausts
ACN: 169 674 373
1 Bubeck Street, Sunbury VIC 3429 — Ph: 1300 12 13 12



